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QUESTION 1

An administrator needs to configure a monitor to track the health of an IMAP service configured on a 

NetScaler system. 

Which type of monitor must the administrator configure to track the health of this entity? 

A. Load 

B. User 

C. Inline 

D. Server Application State Protocol (SASP) 

Correct Answer: B 

 

QUESTION 2

When leveraging the Dashboard, which information would indicate to an administrator that server performance has been
improved after enabling caching in a network environment? 

A. Client connection count increases 

B. Server-side request rate increases 

C. Client connection count decreases 

D. Server-side request rate decreases 

Correct Answer: D 

 

QUESTION 3

An administrator needs to add a new node to an existing NetScaler system to create an HA pair. 

In order to prevent the new node from taking over as primary, the administrator should select the __________ setting on
the new node. (Choose the correct option to complete the sentence.) 

A. Stay primary 

B. Stay secondary 

C. Disable HA propagation 

D. Disable HA synchronization 

Correct Answer: B 

 



QUESTION 4

An administrator must first enable the __________ feature before a URL transformation policy can be used in a network
environment. (Choose the correct option to complete the sentence.) 

A. rewrite 

B. responder 

C. content filtering 

D. URL transformation 

Correct Answer: A 

 

QUESTION 5

An administrator has noticed a degradation in performance from the Web servers when delivering secure web
applications in the network environment. 

Assuming a NetScaler system is deployed to improve site performance, which feature must first be enabled to allow for
other acceleration benefits for secure traffic? 

A. Configure Cache redirection. 

B. Configure load balancing for the Web servers. 

C. Configure priority queuing on the NetScaler system. 

D. Configure the SSL offload feature on the NetScaler system. 

Correct Answer: D 

 

QUESTION 6

Which two actions should an administrator take to configure HA monitoring, including HA failover, when configuring
NetScaler systems in an HA pair? (Choose two.) 

A. Enable all interfaces. 

B. Disable all unused interfaces. 

C. Enable HA monitoring for all interfaces. 

D. Disable HA monitoring for unused interfaces. 

Correct Answer: BD 

 

QUESTION 7

Scenario: An administrator needs to configure a NetScaler device so that a set of back-end servers in a LAN can initiate



connections to the Internet. ACLs are configured in this environment. What must the administrator configure to meet the
needs of this scenario? 

A. INAT on the servers in the LAN 

B. RNAT for the destination IP addresses 

C. NAT on the router to the NetScaler device 

D. RNAT for the subnet that includes the LAN IP addresses 

E. RNAT on the virtual servers bound to the servers in the LAN 

Correct Answer: D 

 

QUESTION 8

An organization has a NetScaler HA pair that needs to be upgraded to the most recent build available for NetScaler
version 9.2. 

According to best practices, which three steps should the NetScaler administrator take to minimize downtime while
accomplishing this task? (Choose three.) 

A. Disable propagation for the HA pair. 

B. Disable synchronization for the HA pair. 

C. Migrate the configuration to version 9.2. 

D. Disable heartbeat communication (HAMON). 

E. Enable Independent Network Configuration (INC). 

F. Upgrade the Secondary NetScaler unit in the HA pair first. 

Correct Answer: ABF 

 

QUESTION 9

The expression can be used for __________ and __________. (Choose the two options that correctly complete the
sentence.) 

A. caching 

B. compression 

C. load balancing 

D. surge protection 

Correct Answer: AB 

 



QUESTION 10

An administrator set up a NetScaler pair in HA but noticed that the secondary node status is showing as DOWN. 

Which two configurations should be made on the secondary node to bring the node status to UP in HA, according to
best practices? (Choose two.) 

A. Disable unused interfaces. 

B. Disable HAMON on disabled interfaces. 

C. Configure nsroot password to be identical for both nodes. 

D. Configure RPC node password to be identical for both nodes. 

Correct Answer: AB 

 

QUESTION 11

Scenario: An administrator has set up the configuration of an HA pair so that each NetScaler appliance has four
connected interfaces. In addition, two pairs of interfaces for each appliance are configured in a link aggregation
channel. 

Which two additional steps should the administrator take to set up HA? (Choose two.) 

A. Configure a route monitor on the NetScaler. 

B. Disable the interfaces that are not connected. 

C. Enable HA monitoring on the physical interfaces only. 

D. Enable HA monitoring on the link aggregation channel. 

Correct Answer: BD 

 

QUESTION 12

Scenario: An administrator introduced two new servers into a server farm; the servers can handle more traffic than the
older servers. The current load balancing method set for the virtual server managing the traffic for this group of servers
is least connections. The administrator wants to maintain that load balancing method but also wants to use the new
servers to improve performance by sending more traffic to them than to the older servers. 

Which advanced option must the administrator configure to achieve this? 

A. Max Client 

B. Service Weights 

C. Backup virtual server 

D. Global Setting Override 

E. Connection-based Spillover 



Correct Answer: B 
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